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©OMES

Work out:
235
+ 4 51

Evaluate:
6 2
7 7

Convert 3 km 250 m into metres.

Find v36 .

ANSWEr: ..o [1]
ANswer: ......ccoceiiiiiiiiiieeeens [1]
ANSWer: .....ccoiiiiiiiiiieeaens m [1]
ANSWEr: ..o [1]

Marks



Marks

5. Evaluate:
-5-7

ANSWEr: ..o [1]
6. Express 0.25 as a percentage.

ANSWEr: ..o e [1]
7. Simplify x® <+ x%.

ANSWer: .....cccciiiiiiiiii e, [1]
8. Simplify 5ab — 4ab.

ANswer: ......ccoeiiiiiiiiiieea [1]

9. Find the Highest Common Factor (H.C.F.) of 2y? and y.

ANSWEr: ..o e [1]
10.  Complete the number line below.
CE
<+ I I I I } I —>

-4 -3 -1 1 2 3 Qc
TL
[1] E
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11. Circle the correct answer. Each item carries 1 mark.

(@) 12x4=
A 046
B 0.8
C 46
D 48

(b) How many sides does a pentagon have?

A 5
B 6
Cc 7
D 8

2 3
(c) Given that A = (5 -1 >
0 4

What is the order of matrix A?

A 2x3
B 3x3
Cc 2x2
D 3x2

(d) What is the Lowest Common Multiple (L.C.M.) of 3 and 67?

A 3
B 6
C 9
D 18

©MES 4
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What is the value of 73.058 correct to 1 decimal place?

A 73.0
B 73.1
C 73.10
D 73.05

How is an angle between 90° and 180° called?

A An acute angle
B A right angle

C An obtuse angle
D

A reflex angle

If 52 x 148 = 7696, then 51 x 148 =
A 7696 — 148

7696 + 148

B
C 7696 — 52
D

7696 + 52

Study the Venn diagram below.

Which one of the following statements is true?

§

__»Q

PeQ

QcP

o O w >
9]
n
-

PcQ

Please turn over
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(1) A rectangle has an area of 45 cm? and a width of 3 cm.

What is its length?

14 cm

A

B 15 cm
Cc 105 cm
D

135cm

()] The cost of 6 pencils is Rs 90.
What is the cost of 3 pencils?

15

30

45

o o0 W »

60

©OMES 6
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12. (a) What is the coefficient of x in the expression 8x? + 3x — 5 ?

ANSWer: ..o [1

(b) Factorise:

ANSWEr: ....iiiiiiiiire e [1]

3
(c) Find the value of 10 — 5 + . Give your answer as a decimal.

ANswer: ......ccocoviiiiiiiiieee, [2]

CE

Qc

TL
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Study the Venn diagram below carefully.

g
A | /VB
7 5
List the elements of set
o A
Answer: A={ .. ... } (1]
(i) AUB
Answer AUB={............ooiiii } 1]
Write down n(A' n B).
Answer: ..., [1]

Marks
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14.  Solve the inequality 2 — 5x < 12.

Answer: .........cocviiiiiieiennn. [3]

15. Mauiritius is 4 hours ahead of GMT.
Chicago is 6 hours behind GMT.

When it is 03 30 in Chicago, what time is it in Mauritius?

Answer: .......coiiiiiiiii, [2]

CE

Qc

TL

OMES 9 Please turn over
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Solve 2* = 16.

Answer: x =.....

The two vectors (m i n) and (Tg) are equal.

(@)  State the value of m.

Answer: m = ...

(b) Find the value of n.

Answer: n =

10

Marks



Marks
18. Figure 1 shows a square card with area 25 cm?.

Figure 1

Six such cards are used to make the shape shown in Figure 2.

Figure 2

Find the perimeter of the shape shown in Figure 2.

Answer: ..................l cm [3]

CE

Qc

TL
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A bag contains 6 black marbles and 4 white marbles.

A marble is chosen at random.

Find the probability that the marble is not white.

ANSWEr: ..uuiiiiiiiiiiiiciiiiinnnas

Two fair coins are tossed at the same time.
A possibility diagram is drawn to display all the possible outcomes.

(1) Complete the possibility diagram given below.
Coin 2
Head (H) Tail (T)
Head (H)
Coin 1
Tail (T) (T, H)

(i) Find the probability that the coins show a head and a tail.

Give your answer in its simplest form.

ANSWEN: ..eeiiiiiiiiirieerrrennns

12

(2]

[1]

(2]

Marks



20. (a) Find the size of one angle in an equilateral triangle.

[}

Answer: .................. [1]

(b) Study the diagram below.

C is a point on BD such that triangle ABC is equilateral and 2 ADC = 20°.

20°

Find « CAD.

Answer: ...........c..e.... [3]

OMES 13 Please turn over
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21. Given that:

_(4 -2 _(1 5
S= (6 0 ) T= ( 3 2)
Find
@ 58S
ANswer: ......ccocviiiiiiiiir e, [2]
(b) ST
ANSWEr: ... [3]

©OMES 14
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22.  Intriangle ABC below, 2 ABC = 90°, « BAC = 50° and AC =12 cm.

A

50° 12 cm

B C

Using the information given below, as necessary, calculate the length of AB.

Give your answer to the nearest whole number.

[sin 50°= 0.77 cos 50°=0.64 tan 50° = 1.19]

Answer: .......cccciiiiiiiiiennns cm [3]

CE

Qc

TL
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23. The second and the third terms of a Fibonacci sequence are

2% and 3 respectively.
Find

(a) the first term of the sequence,

Answer: ......ccoiiiiiiiiiiiie, [1]

(b) the fourth term of the sequence.

Answer: .......coiiiiiiiiiiiiiieee, [1]

©OMES 16
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Triangle P and triangle Q are shown in the grid below.

On the same grid,

(@) draw the image of triangle P under a reflection in the x-axis and label it R.

[2]

(b) write down the translation vector that maps triangle P onto triangle Q.

ANSWer: ....coviiiiiiiieieeas [1]

2..
1 - A
—» X-AaXIS

6543219123456

a1

17 Please turn over
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25. (a) The bar chart below shows the time taken by 4 children to complete a

task.

N

Time 10 +
takenin g L
minutes s 1

7 4+
6 4+
5 4
4 4
34
2 1
14

>
>

Léa Clara Dan Eric

Name of children

Who completed the task first?

Answer: ... [1]

(b) The numbers below are listed in ascending order.

10 11 11 12 13 14 15 17

Find the median.

Answer: .................c [2]

©OMES 18
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(c) 20 families were asked about the number of pets they have.

The information gathered is shown in the frequency table below.

Number of pets (x) 0 1 2 3 4 5

Number of families (f) | 4 7 4 1 3 1

Find the mean number of pets that a family has.

Answer: ... [2]

26. In a sale, the price of all items is reduced by 20%.
A refrigerator is sold at Rs 40 000 in the sale.

What was the original price of the refrigerator?

CE

Qc

ANSWeEr: RS ..ivviiiiiieiii e rnianeas [3] O
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(a) Complete the table of values for the line y = 2x — 1.

X -2 0 2
y o T 3
(x, y) (-2, -5) T y enenns ) (2, 3)
[2]
(b) The line x +y = 2 is shown on the grid below.
Using part (a), draw the line y = 2x - 1 on the same grid.
y-axis
A
<:::::::\::::>x-axis
6 5-4-3-2-19112\3 456
24
-3+
44
X+y=2
5+ y
61
v
[2]

20
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(c) Hence, or otherwise, solve the simultaneous equations:

x+y=2
y=2x-1
Answer: x = ........co.e.es V= riirarnnrnnnns [2]

Point A has coordinates (2, 3) and point B has coordinates (4, -1).

(a) Find the gradient of the line passing through A and B.

Answer: ........cciiiiiiiiiiiiees [2]

(b) Hence, find the equation of the line passing through A and B.

Answer: ........cciiiiiiiiiiiiens [3]

21 Please turn over
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29.  Acartravels a distance of 180 km from Town A to Town B at an average

speed of 72 km/h.

Find the time taken by the car to travel from Town A to Town B.
Give your answer in hours and minutes.

Answer: ............... o [ minutes [3]

30. (a) Expand x (x + 1).

Answer: ........coeiiiiiiiiiiies [1]

©OMES
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(b) Use your answer to part (a) to solve

xX(x+1)-18=2.

Answer: x=.............. (o] g kS [4]

CE

Qc

TL
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(a) A solid cylinder with height 15 cm and radius » cm has a volume of

7351 cm?.

Find the value of r.

ANsSwer: .....cciiiiiiiiiieeens cm [3]

' cm

(b) The diagram below shows the net of a right prism.

] O
3cm
H|
4cm X cm
-
1 N
12cm

24
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Calculate
(i) the value of x,
ANSWEr: X = . [2]
(i) the total surface area of the prism,
ANSWEr: ...c.oivieiiieiieeeeean, cm? [4]
(ii)  the volume of the prism.
CE
QcC
ANSWET: ...cevvnieiniieenenenennes cm? [2] —
E
©OMES 25
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